Name Test 2
CHEM 0201 (Organic) Fall 2014

1. (6 pts. each) Provide names for the following molecules.

a. />/>/ b. HO
Z 9.

2. (12 pts.) Determine the degree of substitution (1°, 2°, 3°, 4°) for the circled C atoms on
the structures drawn below. 7.

3. (10 pts) Acetone, drawn below, with a dipole moment of 2.91 D* has a stronger dipole than
water, which has a dipole moment of 1.85 D*. The boiling point for water is 100 °C, whereas the
boiling point for acetone is 56 °C. Which has the stronger intermolecular forces, water or acetone.
Explain your response. *(Data retrieved from wikipedia.org)
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4. (10 pts) Water reacts as with hydrogen chloride as drawn below.

H H
\ ®
\O + H—~Cl — /O—-H + Cle

¥ H

a. Is water acting as an acid or a base.

b. Explain why water can act in the manner you chose in part a.

5. a. (4 pts.) For each of the following molecules, identify the acidic hydrogen atom.

b. (8 pts.) For each pair of molecules below, determine which is the stronger acid.
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6. (10 pts.) Using ideas from valence bond theory as discussed in class, explain why carbon to
carbon double bonds are nucleophilic.



7. (10 pts.) Explain why tertiary carbocations are more stable the secondary carbocations.

8. (6 pts. each) Predict the organic products for the following electrophilic addition reactions.

a. H—CI
v

b. H,SO,

/ CH4OH

/ H,O

9. (10 pts.) Provide a mechanism (a stepwise reaction scheme) that shows how the product is
formed in the following reaction. Include electron movement arrows.

H—Br Br
C></ Oﬂ/
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